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| (&) Cutling four disedvantages of a micrafilm output as used in data processing,
(4 marks)

(b (i) Define the term ethics as used in Information Communication
[echnology (2 marks)

== = -

(i) Outline two ways that could be used to enforce ethies in Information

Communication Technology industry. {2 marks)
(c) Jostling Company Lid intends to incorporate the clowd computing lechnology
in its pperations. Explain three benefits that the company is likely to derive
from this technology. \ {6 marks)
B L S 4 a o
n
il {1} ni}ili_ljgui_ﬁh between personal rexponsibality and corporale soefol
responsibilicy as used in [CT and ethics. (4 marks)

(1)  The following is a list of storage devices,




= Hard disk

- DVvDR

- Disketie
Compact disks

Classify themn under either magnetic or optical devices

(. marks}

(1) extranet;

Define each of the following terms as used in computer networks:

(2 marks)

(11} intranet.

(2 marks)

() Distinguish between peer-to-peer and clienr-server as used in computer

netwiorks

(4 marks)

(c) With the aid of an example in each case. explain how each of the following

would affect the output of employees in an organization:
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(1] SITESS; [ 3 marks)

{11} cmotions. {3 marks)

(d)  Kilimu Company intends to put in place measures 1o reduce sirain on its
computer users® eyes. Explain three such measures that the company
could put in place {& marks)

T — ——— —
— -~ —_— —_

L {a) Outline two characteristics of the second generation compulers. {2 marks)

(b)  Explain two likely causes of non-work related conflicts in an orpanization
(4 macks)
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(cl Kudu intends to acguire & printer using the feave method. Explain three
circumstances that may have contributed to this method of acquisition.
(6 marks)

(ay {1 Crorges, an architect intends to acquire a hardeopy output device for his
,. design work. Justifying vour answer, state the most appropriate output
device that he would choose. (2 marks)

(it  Cultic College intends to s&f ip a computer laboratory for its students.
Explain three factors thavthe college should consider when setting up
the laboratory. (6 marks)
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4 {a) () Explain the term data dus as used in Information Communication

lechnology, (2 marks)
(1) With the aid of an example, deseribe the term procrastinarion as used
in fime management [ marks)
(b) Explain two roles of a computer programmer in an organization (4 marks)

(e Distinguish between super camputer and main frame computer as used in
Information Communicatidn, Technology. (dmarks)

{d) June, a college counselor has noticed frequent gquarrels among her colleagues
in the staffroom. Explain three Conflict Manapement strategies that she
should institute to reduce the levels of quarrelling, (& marks)
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: {a) Explain the contribution of each of the following persons to the development
of computer technology

(1) Charles Babbugze; (2 marks)

(i1} Blaise Pascal. {2 marks)

(b Explain two advantages of infegrated software 1o an organization, (4 marks)

(c) An intermational bank intends to minimize environmental pollution that might
result from 1ts ICT equipment. Explain three strategies that the bank could
adopi. (& marks)
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With the aid of a diapram. describe a metropolitan arca network. (& marks)

)

o : — F‘

f (a) Outline two functions of an Uninterruprible Power Supply as used ina
computer laboratory {4 frearks)

{b) Lifferenttaic between open architeciure and clased architecture as uxed in
COMpPULTTs, {4 marks)

&) Joy prefers a laser printer to a dot matrix primter for her personal wse, Explan
three reasons that may have influenced 1o her preference. {5 marks)
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(d)  Cytec Company intends to purchase new computer RAM modules. Advice the

procurement team on three factors that they should consader, (6 marks)
7 (&) Chithing four examples of wfility programs as used in computers (2 marks)
(1) {1} Distinguish between preventive and reachive conflict manapement

techmiques as used n 17T {4 marks)
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(1) James, 8 matatu businessman intends o install a global posihoning
system (GPS) device in his cars. Explain 1o him two advantages he Is
likely to expenience, {4 marks)

(el Explain each of the following tesms as used in computer software

(il aff-the-shef {2 marks)

(1)  spreadihect pockage. (2 marks)
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(d)  Kaputil Company has converted its manual data processing system to
electronic method, Explain three ways in which the emplovees would be
negative] v afTected by the conversion (6 marks)

& ia) Define each of the following terms as used in Information Communication
['echnology and ethics:

(i) copyright;

{2 marks)

(& marks)

{b)  Distinguish between silent and guiomaric software installation methods as
used in Information Communication Technology, {4 marks)
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(¢}  Colon Company Lid develops software for different companies. Explain three
challenges the company is likely to face in trying to deal with intellectiual
property rights of the programmens. (6 marks)

(d) Ciarter a counselor has been invited a'®iang College 1o talk to the studenis
abaut causes of stress and how to manape them. Explain three causcs of siress
that he 15 likely 1o discuss. (6 marks)

o - o '
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